### **COVER SHEET**

																					Α	S	0	9 5	5 0	) (	) 2	2	8	3
																			SEC	Re	gist	rati	on I	Nun	nbe	r				
D	М	С	Ι		Н	0	L	D	Ι	N	G	S	,	Ι	N	С														]
																														1
				l		l						1			1										<u> </u>	1		1		<u>.</u> 1
												(Cor	nna	nv's	L s Fu	ll Na	ame	<del>)</del>												J
											,	(		, 、				-,												=
3	R	D		F	L	R		D	Α	С	0	N		В	L	D	G			2	2	8	1							
Р	Α	S	0	N	G		Т	Α	М	0		Ε	Χ	Т		М	Α	K	Α	Т	I		С	I	Т	Υ				]
																														]
							(E	Busir	ness	Ad	dre	ss:	No.,	Str	eet	City	//	Tow	n/	Pro	vinc	e)								_
	HF	RRI	-RT	М.	$\mathcal{C}$	NSI	IN 11	7		1											888	8-3	ດດດ	1				1		
				act I						_								С	omp	any					ımb	er		j		
																			·	·		•					.d <b></b>			
																										(3	uΙ	uesc	lay (	of May
1	2		3	1							SE	C Fo	rm	17	'-C								0	5			1	8		
			L								-00		) /DF											<u> </u>						
Mon Fis	th cal	Yeai		)ay						ŀ	-OR	M T	YPE	-							Δ	nnı		nth Mee		1	Da	y		
1 13	cai	Cui									Г			N.I	^			7			,		aui i	100	cirig	,				
									ς	eco	_ nda	ary L	ice	N.		ne 1	fΔı	_ nnli	cahl	<b>6</b>										
				_					J		,,,,,,	, .			٠,٢,٢	,,,,	. , ,	ppiii	cab.											
С	<u>F</u>		D	<u> </u>											Δ		11	۸.4	-1	NI		/	<u> </u>	. L						
Dept F	kequ	IILIU	gtr	1IS L	JOC															Nu				CUOL	1					
						_									T	otal	Am	our	nt o	f Bo	rrov	ving	IS				_			
Total I	No.	of S	toc	khol	lder	s							С	)om	esti	<u></u>			L	Foreign										
Total No. of Stockholders																														
							_	a h			mnl	ich	-d 1	C	CEC	Do		nna	ما ده	ncc	rne	٠d								
							ı	o be	e ac	.COI	HPI	15116	eu i	Ју З	DLC	rei	501	IIIE	i CC	) I ICE	:1116	tu								
	<u> </u>																													
File N	umb	er													L	.CU														
Docun	nent	ID				·									Cas	shie	r													
						- : -																								
	C T		r D (	,																										
	ST	A IV	LP S	•		:																								
						  -  -				D.~~	ادمد	/C! F	)los	co ,	ICO I	DI A	CV	inl	for		nin	a	urn	000	-					
						:			ı	Kell	ıaıĸ	ks: F	ied.	שב נ	15C	DLA	CIV	IIIK	IUI	ocai	11 111 1	y p	uı p	USES	•					

### **SECURITIES AND EXCHANGE COMMISSION**

### SEC FORM 17-C

## CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1.	March 23, 2021 Date of Report (Date of earliest event reporte	ed)	
2.	SEC Identification Number ASO95-002283	3. BIR Tax Identifica	ition No. <u>004-703-376</u>
4.	DMCI Holdings, Inc. Exact name of issuer as specified in its charte	er	
5.	Philippines Province, country or other jurisdiction of incorporation		Use Only) Code:
7.	3/F Dacon Building, 2281 Don Chino Roces Address of principal office		<u>1231</u> ostal Code
8.	(632) 8888-3000 Issuer's telephone number, including area co	de	
9.	Not applicable Former name or former address, if changed s	since last report	
10.	. Securities registered pursuant to Sections 8 a	and 12 of the SRC or Sec	tions 4 and 8 of the RSA
	Title of Each Class No. o	of Shares Outstanding	<u>Amount</u>
	Common Shares Preferred Shares	13,277,470,000	Php13,277,470,000.00
	TOTAL	960 13,277,470,960	960.00 Php13,277,470,960.00
11.	. Indicate the item numbers reported herein: <u>It</u>	<u>em 9</u>	

### Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Jorge A. Consunji, Director of the Corporation:

Transaction Type	Date	No. of Shares	Price/Share (Php)	Amount (Php)
Bought (Indirect)*	March 22, 2021	100,000	4.9900	499,000.00
Bought (Indirect)*	March 22, 2021	50,000	4.9500	247,500.00
Bought (Indirect)*	March 22, 2021	200,000	4.8800	976,000.00
Bought (Indirect)*	March 22, 2021	65,400	4.8400	316,536.00
Bought (Indirect)*	March 22, 2021	50,000	4.9100	245,500.00
Bought (Indirect)*	March 22, 2021	34,600	4.8500	167,810.00
				_
Total		500,000		2,452,346.00

<sup>\*</sup>controlling shareholder of a Corporation

### **SIGNATURES**

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

<u>DMCI Holdings, Inc.</u> Issuer

Herbert M. Consunii

Executive Vice President & Chief Finance Officer

March 23, 2021

C01872-2021

### SECURITIES AND EXCHANGE COMMISSION SEC FORM 17-C

### CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1. Date of Report (Date of earliest event reported)

Mar 23, 2021

2. SEC Identification Number

ASO95002283

3. BIR Tax Identification No.

004-703-376-000

4. Exact name of issuer as specified in its charter

DMCI Holdings Inc.

Province, country or other jurisdiction of incorporation Philippines

- 6. Industry Classification Code(SEC Use Only)
- 7. Address of principal office

3/F Dacon Bldg. 2281 Chino Roces Avenue, Makati City Postal Code 1231

8. Issuer's telephone number, including area code 63288883000

9. Former name or former address, if changed since last report

N/A

10. Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA

Title of Each Class	Number of Shares of Common Stock Outstanding and Amount of Debt Outstanding
COMMON	13,277,470,000
PREFERRED	960

11. Indicate the item numbers reported herein

ITEM NO. 9

The Exchange does not warrant and holds no responsibility for the veracity of the facts and representations contained in all corporate disclosures, including financial reports. All data contained herein are prepared and submitted by the disclosing party to the Exchange, and are disseminated solely for purposes of information. Any questions on the data contained herein should be addressed directly to the Corporate Information Officer of the disclosing party.



## DMCI Holdings, Inc. DMC

# PSE Disclosure Form 13-1 - Change in Shareholdings of Directors and Principal Officers References: SRC Rule 23 (SEC Form 23-B) and Section 13 of the Revised Disclosure Rules

### **Subject of the Disclosure**

Trading of DMC shares by a Director of the Corporation

### **Background/Description of the Disclosure**

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Jorge A. Consunji, Director of the Corporation:

Name of Person	JORGE A. CONSUNJI
Position/Designation	DIRECTOR

### **For Equity Securities**

Type of Security /	Date of	Securities Dis	Acquir posed (		Ownership Form Direct	Nature of Indirect Beneficial Ownership		
Stock Symbol	Transaction	Number of Shares	(A) or (D)	Price per Share	(D) or İndirect (I)			
COMMON/DMC	Mar 22, 2021	100,000	А	4.99	I	controlling shareholder of the corporation		
COMMON/DMC	Mar 22, 2021	50,000	А	4.95	I	controlling shareholder of the corporation		
COMMON/DMC	Mar 22, 2021	200,000	А	4.88	I	controlling shareholder of the corporation		
COMMON/DMC	Mar 22, 2021	65,400	А	4.84	I	controlling shareholder of the corporation		
COMMON/DMC	Mar 22, 2021	50,000	А	4.91	I	controlling shareholder of the corporation		
COMMON/DMC	Mar 22, 2021	34,600	А	4.85	I	controlling shareholder of the corporation		

#### **Number of Shares Owned after the Transaction**

Direct	5,000
Indirect	34,346,392

#### Filed on behalf by:

Name	Herbert Consunji
Designation	Executive Vice President & Chief Finance Officer